Standard 1 Review:  Name: Ko/

1. Indicate which is the most specific number set each of the following values is in.
(Complex, Imaginary, Real, Rational, Irrational, Integers, Whole, or Natural)

a. -5 fdzﬂﬁx b. 2 1V oehioned
rodonal

c. 3+4i Cow\,e)\e/,)c d. 83
e. J/-16 l“lmz«réfhw/y £ 0 wWhole

2. Write the following inequalities in interval notation and state whether they are
bounded or unbounded.

.x22 7 o) b. 1<x<6 (\,61
| bownded

Ny ,
3. Write the following intervals as inequalities and graph them on a number line.

a. (-0, 4] X_L_L‘. b. [-1,5) -1 & xe5
& o ' £ )
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4. Identify which of the following is a polynomial.

a. -116x’y’x" b. x* +4x7? —2x e xX+4x-7
1T 0

M A derun
5. Identify the degree, leading term, leading coefficient and constants of each

polynomial.

a. 2x°+ 7x* —5x + 4 b. 9x* + 8x* —6x° + 4x + 1
A=30 LT 2x3 d=g°  LT: -6x®
Le = 2 Le= -6
comt. =4 Comrt, = A
6. Add/Subtract the following polynomials.
a. (2 Tx +2) + (6x>+6x-9) b. (11x*+2x% - 5) — (4> — 8x + 7)
3 ,
2x°tbx%-x -7 WXt 4x3 v 2 e x -\ 2
7. Multiply the following polynomials. '
a. 3x(2x*—4x+ 1) b. (3x +2)(3x—2)
= 2
X “-\2x% 2y | ax% 4
c. (5x+4) d. (x+2)(x*+3x-6)

25x thogtlb X2+ 8¢ 22



8. Simplify using Polynomial long division.

t+2xP -3x?-8x—4
x> +x’ —4x-4

Q= Xl y=0

' +3x —-7x* -27x-18
x?-9

(= ;{Q+5x¢2

=0

9. Solve (find the zeros) of the following equations Algebraically.

a. 3x+4=17
5= ts’/3

c. X>+11x=-30

(x+eYxt5)=0
Xz2-b K-S

e. 49x*—28x+4=0
(?x~2)2’0
X= 437
g. 5(x+4)—-720=0

X=-lb X=%

(fQ?) i x'+5x° -36x%=0
XE( xra)(x-4) "0
X0 x=4 X4
k. x+6/x%27=0

jﬁb
(AR Ax=3) 7O

X=% X219
Vto;:’, \/u'?i wo‘!ks

b. 3x*+ 18x=0
3x (kt6) 2O
x=0 X:-6

d. 4> +9x+5=0

—-,.\
—

h. 6x>+2x—3=0 .
o. S

AR e

= =6 -0 34

x*—41x* + 400 =0

(Xz_zsxxz" lb\.)

-t5 x-=%

j.

L xX*+2xX*-11x-12=0

( )(+I’Q(XHXX~5)
Xz a‘lt x=-1 X=3



10. Simplify using Synthetic division.

¥ =-Tx-6 b x* +3x3 =7x? -27x-18
x-3 ) x+1

Q= X r2xZax-1%
(=0

Q- X?’r3x 2

Y20

11. The graph of f(x).=\/§ is below. Sketch the following related graphs.
Ax)=+x a. f(x) =vx—3 b. Ax) = -Jx+2 e Ax) = o= x—1+2

Al A3
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12. Sketch the following polynomial graphs.
a. fx)=-x"+4 b. Ax) =2x* - 3%’ + 7x* + 8x - 4




14. Solve (find the zeros) Algebraically.

a. X’+ 14x+45=0 b.x’ —6x* —16x=0
( X rﬂ()(‘{) O x( X > bx 16) <O
X=-4 XS x (x-%\x42) 7O

X0 X=9 Xz=L
15. Find a polynomial with the following zeros.

a. x=8,3 b.x=0, 0, 2,-4
(x-5Yxt3) X(K-2oc4)
X~ 5.2k & (x52x-%)

,xL"f 2XZ-¥x &
€. x=2,2,3 d. x==+1,+4

,x?;xz_qxﬂz )<4—fo2+l(>

16. A new bridge across the Willamette Channel will use a parabolic support system. If
the supports must each be 20 feet from the center of the river (x = 0), find an equatlon
for the parabolic supports.

Zevos 120

)Coc) = —x thoo

What will the max height of the bridge be from the river bettom: (y = 0), according to
your equation?



